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QUESTION 1

If the current directory is /root and the kernel source is located in /usr/src/linux, which of the following commands should
be used to apply the patch /tmp/foopatch? 

A. cat /tmp/foopatch I patch -p0 

B. cd/usr/src/linux;cat/tmp/foopatchIpatch-p0 

C. cd/usr/src/linux; cat/tmp/foopatch I patch 

D. cd/usr/src/linux;patch-pl/tmp/foopatch 

Correct Answer: D 

 

QUESTION 2

Which of the following entries are NOT valid in /etc/raidtab? 

A. superblock-persistent 

B. chunk-size 

C. nr-spare-disks 

D. nr-raid-disks 

Correct Answer: A 

 

QUESTION 3

Which single parameter, when passed to nmap, will instruct nmap to perform a fast scan? (Provide only 

the option) 

Correct Answer: -F 

 

QUESTION 4

A Linux machine freezes during boot. To boot directly to a shell prompt so that editing of files and manual starting of
services is possible which command line must be passed to the kernel for the boot process? 

A. init=/bin/bash 

B. 1 

C. runlevel=1 

D. sh 
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E. /bin/sh 

Correct Answer: A 

 

QUESTION 5

According to the tcpdump output below, what is the IP address of the client host? 14:17:19.225220 IP
192.168.1.106.33239 > 192.168.1.127.22: S 4158312222, win 5840, options [mss l460?sackOK?TS val 806043 ecr
0?nop?wscale 6] 14:17:19.242943 IP 192.168.1.127.22 > 192.168.1.106.33239: S. 4013568495 ack 4158312223, win
5792, options [mss 1460?sackOK?TS val 565852 ecr 806043?nop, wscale 6] 14:17:19.243111 IP 192.168.1.106.33239
> 192.168.1.127.22: . ack 1, win 92, options [nop?nop?TS val 806045 ecr 565852] 14:17:19.264654 IP
192.168.1.127.22 > 192.168.1.106.33239: P. seq 1:40, ack 1, win 91, options [nop?nop?TS val 565856 ecr 806045] 

Correct Answer: 192.168.1.106 
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